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TECHNOLOGIES
Network Testing and Emulation Solutions

Emulating Station Motion with a Programmable Attenuator

Goal: Test the AP migration of a station by changing the attenuation of two or more APs.

By changing the apparent distance of multiple APs,
we provide an environment that emulates moving

through a series of AP coverage areas. We can set /\/\
the rate of change to emulate the speed of the L
station's movement. We can set the emulated Mobile Client LANforge GUI
distance for APs so it appears that the APs are « ) T
further apart or closer together. : | .
This cookbook scenario illustrates a minimal
motion emulation setup: two Candela CT520 USE
systems are providing a 1x1 AP signal to a CT703 p bl
. irae rogrammabie il o .
Programmable Attenuator. A cell phone is sitting Bl “8* | ANforge WiFIRE
near the attenuator. (lllustration at right.) . Upsfream
Ethernet
There are many possible testing scenarios. One SMA
ideal method would be to place each AP and Cables
phone into isolation chambers, and wire a
programmable attenuator to each AP, placing the * LANforge WiFIRE
antennas in the phone's isolation chamber. Access Points

(lllustration below.)

Isolation
Chamber

It is possible Mobile Client
to use third-
party access
points, but
then the
LANforge
would not be

able to report e
as many

Upstream
Ethernet

LANforge WIFIRE

statistics, and S
would be used cavies &
mostly for just

operating the

programmable attenuator(s). Third-party APs may
be able to provide their own reporting to make this
scenario more useful.

1. Setup two LANforge units. The LANforge manager unit will connect to a CT703 attenuator via USB cable for
control and provide a virtual AP. The LANforce resource unit will provide a second AP isolated from the first.

2. Configure Networking on Manager node:
A. In Ports tab, On Manager resource, Create bridge b0 and add ethl to it.

B. Set the address and mask of eth1 to 0.0.0.0
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C. Select wiphy0 and create Virtual Access Point vap0 with:

& vap0 (jedtest.candelatech.com) Configure Settings

Port Status Information
Current: LINK-UF GRO MNONE
Driver Info: Port Type: WIFI-AP  Parent: wiphy0
Port Configurables
I/Standard Configuration | Advanced Configuration | Misc Configuration |  Custom WiFi
Enable General Interface Settings
[]set IF Down ] Down ] Aux-Mqt
iR [IDHCPAPVE [7] DHCP Release  DHCP Vendor ID: [None v
[]set TX O Len
[] DHCP-Pv4 DHCFP Client ID: |None |V|
[[]set MTU
[] set offload DMS Servers:  |BLANK Peer IP: MNA
[ Set PROMISC IP Address: 0.0.0.0 Global IPv6: [auTO |
IP Mask: 0.0.0.0 Link IPvé: [auTO |
Gateway IP;  [0.0.0.0 IPVE GW: [auTO |
— Services— Alias: T 1500
[]HTTP MAC Addr: 00:0e:8e:4d:8a:891 | TX O Len 1000
bl ETP Rpt Timer:  [faster (1 s) |+ | wiFi Bridge: |NONE |v|
WiFi Settings
T 5SID: [jedtest | v ap: DEFAULT
PROMISC Key/Phrase: Ijedtestl | Mode: |802.llabcn |V|
[]TSO Enabled  Freg/Channel: 2412/1 Rate: [0S Default Ed|
By [JUFO Enabled  DTIM-Period: [2 | Max-STA: [2007 |
[]650Enabled  Beacon: [240 |
[JLRO Enabled [JwPA [v]WPA2 []OSEN [ ]WEP []Disable HT40 [] Disable HT80 [ ] Disable SGI
GRO Enabled [[]verbose Debug
| Print || View Details || Logs | | Probe || Display Scan || Sync | | Apply || oK | | Cancel
A. channel: 1
B. SSID: jedtest
C. passphrase: jedtestl
D. mode:ABGN
E. IP: 0.0.0.0
F. Mask: 0.0.0.0
G. Enable WPA2
H. Click OK



D. Create bridge b0

#® b0 (jedtest.candelatech.com) Configure Settings

Port Status Information
Current: LINK-UP PROBE-ERROR TS0 UFO G50 GRO
Driver Info: Port Type: Bridge Driver: bridge(2.3) Bus: N/A

Port Configurables

Enable
Set IF Down |
U S bl Fe g Aging Time: 300 -

et [JDHCPIPVE [7]DHCP Release  DHCP Vendor ID: s

General Interface Settings [ Spanning-Tree

Priority: 32768 -

[]set TX Q Len
= [ DHCP-Pv4 DHCP Client ID: 20 -
[ Set Offload DNS Servers:  [BLANK Eecrib: A Hello Time: 2 hd
[ set Bridge Info IP Address: 10.26.1.1 Global IPvE: AUTO Forwarding Delay: |15 A4
IP Mask: 255.255.255.0 Link IPvé&: AUTO
Gateway IP: 1D0.26.1.3 IPvE GW: AUTO
Alias: = . 1500

MAC Addr.  |00:0e:Be:4d:8a:91 | TX O Len b ]
RptTimer:  |faster (1 s) || wii Bridge: NONE :
———Bridge Information—— Remove Ports

Configured Ports Current Ports

Senvices—
] HTTP ethl ethl Add Ports %

vap0 vap0
LIFTP

[]RADIUS

| Print || View Details | | Probe || Sync | | Apply || 0K | | Cancel

A. Assign address of 10.26.1.1 to bridge
B. Set gateway to 10.26.1.3
C. Add vap0 to bridge b0

E. In Netsmith, create a virtual router.

F. Add bridge b0 to virtual router, click Apply

G. Right click —» Modify b0 in the router, and enable DHCP. Create a DHCP pool with time:1200,
starting address: 10.26.1.20, ending address: 10.26.1.200. Click Apply, close window. Close

Netsmith.

3. Your networking in resource 1 would look like:



Wirtual Routers and Connections

Mgt-etho
192.168.100.26/24

|
wlano i
wiphyl
wlan) ~ wiphyo RO(1)
[ .
: \ b0
wiphy2 10.26.1|1/24

wlanz2
—n ~

| .
=S \;m
S

Info Print Sync Apply
o

[]wanLinks [] show Legend Fire IPvds
[[]'wanLink Mames [v] Port Names Fire Names [ Zero-IPv4s apply Progress: 1 .
[]Peer WanLinks Parents Col. Domains [ IPvGs

Metsmith Status:

[1WanLink Config

4. In Ports tab, for resource 2 node:
A. Set address and mask of eth1 to 0.0.0.0

B. Select wiphy0 and create Virtual Access Point vapl with:



¢ vapl (kedtest.candelatech.com) Configure Settings

Paort Status Information
Current: LINK-UP GRO MNOME
b Driver Info: Port Type: WIFI-AP  Parent: wiphy0
Port Configurables
rStandard Configuration | Advanced Configuration | Misc Configuration | Custom WiFi
——Enable General Interface Settings
[]Set IF Down ] Down [] Aux-mgt
L] set MAC []DHCP4PV6 [] DHCP Release  DHCP Vendor ID: [None [~
[]set TXQ Len
[JDHCPPv4 | Secondary-Ps | DHCP Client 1D: ~ [None v
[]set MTU
[] set Offload DMS Servers: |BLANK Peer IP: MNA
[ Set PROMISC IP Address: 0.0.0.0 Global IPv6: [auTO |
IP Mask: 0.0.0.0 Link IPv6: [auTO |
Gateway IP:  |0.0.0.0 IPVE GW: [auTO |
— Sernvices — Alias: MTU: 1500
[IHTTP MAC Addr: 00:0e:8e:88:ba:e9  TH O Len 1000
LIFTP RptTimer:  [faster (1s) [w|wiiBridge:  [NONE -~
WiFi Settings
e SsID: |]ed'test |v AP DEFALLT
PROMISC Key/Phrase: Ijedtestl | Mode: |802.llabtm |V|
[]TSO Enabled  Freg/Channel: 2412/1 Rate: [0S Default [+
[JUFO Enabled  DTIM-Period: [2 | Max-sTA: [2007 |
[]GSO Enabled  Beacon: [2a0 |
[JLRO Enabled [IwrA [w] WPAZ []OSEN [ |WEP [ ] Disable HT40 [ ] Disable HT80 [ ] Disable 5GlI
GRO Enabled [[]verbose Debug
| Print || View Details || Logs | | Probe || Display Scan || Sync | | Apply || 0K | | Cancel
A. channel: 1
B. SSID: jedtest
C. passphrase: jedtestl
D. mode:ABGN
E. IP: 0.0.0.0
F. Mask: 0.0.0.0
G. Enable WPA2
H. Click OK



C. Create bridge bl

® bl (kedtest.candelatech.c

Port Status Information

Current: LINK-UP PROBE-ERROR TS0 GSO GRO
Driver Info: Port Type: Bridge Driver: bridge(2.3) Bus: N/A

Enable
[]set IF Down
[]set MAC
[]set TX Q Len
[]set MTU

[] set offload

[] 5et Bridge Info

Port Configurables

General Interface Settings [ Spanning-Tree
S bl Fe g Aging Time: 300
[_] DHCP-PvE DHCP Release  DHCP Vendor ID: 32768
[] DHCP-IPv4 DHCP Client ID: Max A 20
DNS Servers: [BLANK Peer IP: A Hello Time: 2
IP Address: 10.26.1.3 Global IPvé: AUTO Fo rding Delay: |15
IP Mask: 255.255,255.0 Link IPvE: AUTO
Gateway IP:  [10.26.1.1 IPVE GW: AUTO
Alias: = 1500
MAC Addr.  |00:0e:8e:88:baied | TX O Len b ]
Rpt Timer: WiFiBridge:  NONE |+

Bridge Information

Configured Ports Current Ports

Remove Ports

Services—
g HTTR S;E. S:;i Add Ports
FTP
[]rADIUS
| Print || View Details | | Probe || Sync | | Apply || 0K | | Cancel

A. Assign address of 10.26.1.3 to bridge

B. Add vapl to bridge bl
c. and add ethl to it.

D. set gateway to 10.26.1.1

5. Your networking in resource 2 would look like:




Virtual Routers and Connections

-~ Mé;t—etho
- 192.168.100.42/24
[ ]
wiphy0
\?\righyl bl
“wiphyZ2 10.26.1.3/24
.
VAPl ethl

| 1 wanLinks [] show Legend [¥] Fire IPvds Info Print Sync Apply

| L] WanLink Names [v] Port Names Fire Names  [] Zero-Pv4s apply Progress: 100% Compl e |
| ] Peer wanLinks Parents Col. Domains [] IPvGs |
| : . Netsmith Status:

[[] WanLink Canfig

6. Your Ports tab would show a b0, b1, vap0, vapl and two ethl ports like below:

Control Reporting Tear-Off Info Plugins
[ stopan | | Restart Manager Refresh | [ HELP
Status | Layer-3 | L3 Endps | Ar " [ 'Wanlinks | Attenuators | Filed0 | Layer-4 | Test Mgr | Test Group | Resource Mgr | Event Log | Alerts | Port Mgr | Messages |
Disp: [192.168.10051:0.0 | [ sniff Packets | | clearcounters || Resetport |[ Delete |
Rpt Timer: fnediun (8 5) [ ]| Apply | [ Vewbetals |[ create || Modfy || Batchmodiy |
All Ethernet Interfaces (Ports) for all Resources.
Port |Pha...| Down| IP SEC| Alias MAC PDESM bps RX | bpsTX | RX-Rate AP signal Noise Beacon SSID Device Gateway IP IPvE Address
.1.08 0.26.1.1 b0 00:0 91 0 0 b0 .0.0.0 0::20 /64
2.08 | [] | [ 102613 bl 00: 26| 0 b1 0.26.1.1 280::20e:8eff-feB8:baed/64
1.00 92.168.100.26 etho 00:90:0b: 283,791 553,684]1 Gbps etho 92.168.100.1 [fe80:200:bif:fe20:615/!
2.0 L] [ [ [192.168.100.42 Eﬁ 00:90:0b: 16,534 250,503[1 Gbps Et [ 92.168.100.1 [f=80::290:bff fe2f a0
1.0 .0.0.0 eth 00:90: : 0|1 Gbps ethl .0.0.0 0::290:bff:.fe29: 670/
2.0 O [ O [0.0.0.0 eth 00:90:0b: 2f Da: E 0[1 Gbps ethl .0.0.0 0::290:bff:.fef.a0f/54
1.0 1 [ [ [0.0.0.0 vap 00: :91_[wiphy| by 0dBm _ |-95 dBm Jedtest|vap0 .0.0.0 280::20e:8eff:fedd:Bad1/64
.2.0 L] L] [0.0.0.0 vapl 00:0 9 W\Sh)@ 0 dBm -95 dBm jedtestjvapl .0.0.0 280::20¢:8eff:fe88:baeg/64
L@ O | O [0.0.0.0 wiphy  |00:0: 55,38 wiphy0 .0.0.0 L
.2.0 .0.0.0 wiphyD  [00:0e:8e:43:36:29 42,655 wiphyQ .0.0.0 L
1.0 0 [ [ [0.0.0.0 wiphyl _ |00:0: 7:91 wiphyl .0.0.0 L
2.0 .0.0.0 wiphyl 00: 0 :43:38:62 wiphyl .0.0.0 L
1.0 LI [ ] [0.0.0.0 wiphy2 _|00:0: 7:5b wiphy2 .0.0.0 L
2.0 .0.0.0 wiphy2 _|00:0: 3:37:6: wiphy2 .0.0.0 L
10 O | b [0.0.0.0 |wlano 00:0: 56 |wiphy0| ot-Ass. dBm -1 dEm |wlano .0.0.0 LE
2.0 L1 | b [0.0.0.0 wlan0 _|00:0e:8e:43:36:e9 _(wiphy0| ot-Ass.. 0dBm_ |1 dBm wian0 .0.0.0 L
.1.0 L [ [0.0.0.0 wlanl 00:0 7: wiphyl ot-Ass... [0 dBm |-1 dBm wlanl .0.0.0 Lt
2.0 ] [0.0.0.0 wlanl _ |00:0e:8e:43:3a:62 |wiphyl ot-Ass.. [0 dBm |1 dBm wianl .0.0.0 L
1.0 v] |0.0.0.0 [wlan2 00:0e: :27:5b [wiphy?2] ot-Ass... [0 dBm -1 dBm [wlan2 .0.0.0 LE
2.07 | [1 | [ [0.0.0.0 wlan2 __|00:0e:8e:43:37:63 (wiphy2| ot-Ass.. 0 dBm |1 dBm wian2 .0.0.0 L
[a] I 0]

Logged in to: jedtest:4002 as: Admin  n

7. Open the Attenuator Motion plugin and configure a scenario. In this scenario, our attenuator is numbered

1.1.14.



® Attenuator Motion Test

Minimum Attenuation: ‘EJ. 0 (0 dde) ‘V‘ Loop Show Events []Pause ‘ Start H Close ‘
AP #1 AP #32 AP #3 AP #4
AP: 1.1.9 vap0 AP: 1.2.9 vapl AP; AP: NONE

Atten: 1.1.14.0 Atten: 1.1.14.1 Atten:

Atten: MOME

ove <]

e |+
sen [Nove[v] [awen [oNe o] [aten [ [v] |seen [iowe o]
sen [N [v] |men [Nove o] [swen [ ] [suen [ioe o]
O T o P T e P
Distance: = Distance: = Distance: = Distance: |Zero (@) =

Current: 3.5 Current: |91.5 Current: [95.5 Current: |[95.5
Start Position: |Zero (@) |v| Speed (cm/s): |Une m/s (100) |v|stop Position: |Zer‘o () |v|
Current Position: 104m
! {_}
Start AP #1 AP #2 Stop
0 “ 100 200 300

A. Change Minimum attenuation to 0.0 because we're doing an over-the-air test. You would set a
higher minimum when cabling directly to the client station.

B. Enable Loop if desired.

C. Specify the first attenuator module wired to manager radio wiphy0 as AP #1.
A. AP: vap0

B. Atten: 1.1.14.0 This indicates attenuator module 1. (Ranges are 0-2 for CT703 and 0-3 CT704
models of programmable attenuators.)

c. Distance: 100 (Meters)

D. Specify the second attenuator module wired to resource 2 radio wiphyO0 as AP #2.
A. AP: vapl

B. Atten: 1.1.14.1 This indicates attenuator module 2. (Ranges are 0-2 for CT703 and 0-3 CT704
models of programmable attenuators.)

c. Distance: 100 (Meters)

E. Configure the remaining settings so that looping does not unecessarily pause
A. AP #3 should be at Distance 100.

B. AP #4 should be at Distance 0.
C. Set Speed to 1m/s

D. Set Stop Position to Zero.



F. Click Start and a report window will appear. The image below shows repeated looping and pausing, as

well as some manual adjustment.

Speed (cm's)

Start Position: Zero
Stop Position:: Tera
Loop: true
Show Events: true
L
2P
Attenuzstor Module #1
Attenuator Moduls #2
Attenuator Module #3
Attenustor Modula #4
Distance:
Ebsolute Position
P £2
AP:
Attenuator Module #1
Attenuator Module #2
Attenuator Module £3
Artenuator Module £4
istance
Absolute Position:
AP #3
2P:
Attenuator Module #1
Artenuator Module £2
Artenuator Module #3
Attenuator Module #4
Distance:
Ebsolute Position:
P #4
2P:
Artenuator Module #1

One m's
Minimum Attenuation: 8.8 (8 ddg)

Attenuator Motion requested values

(168)

[1:7]

1.1.9 vaph
1.1.14.0
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186 (160)
186

1.2.9 vapl
LEW.L
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Data:
Build Dara:
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Attenuation (dB)
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Attenuator Module #2: NONE
Attenuztor Module #3: NONE
Attenustor Module £4: NONE

Ebsolute Position: 308
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Won 1l 6 15:89:56 POT 2015
5.3.2

Add Your Notes Below:
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FLEl

10 |-
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Configured Attenuation

16:40 17:00 17:05 17:10

Date

16:50 16:55 17:20

[=AP #1 ®AP#2 + AP #3 AP #4]

Reported Signal =

‘ Close | ‘ Sa\._veFLI_e |

G.

Verify station associations. In the picture below, two cell phones are present for the test. They jump
between AP ID 1.0 (AP #1) and ID 2.0 (AP #2). In our testing, it does not appear our phones do a good
job of jumping to a higher quality AP when the signal to the current AP is weak. But, it will normally
associate properly to the 'best' AP when it looses connection to the old AP.
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Date
[# 8:99:c4:8e:83:4d - 8:50:80:91:bd:0e]
Station rates reported by AP
Save File

Click Pause

. Drag the position slider to distance 100 to center the station under AP #1.
. Check that the phone associates with AP #1.

. Disable phone WiFi connection.

. Drag the position slider to distance 200 to center the station under AP #2.

oM 9 0w

. Enable phone WiFi connection, and check that phone associates with AP #2.

H. Run looping test. In graph Configured Attenuation above, and the Station rates reported by AP graph
below, you can see that first cell phone had a difficult time associating to the APs while they were
migrating: the reported TX and RX rates for it are zero or very sparse. A steady stream of data (fast
ping, iperf download, etc) should be run to or from the phone (DUT) to ensure accurate tx/rx rate
reports. That was not done in this scenario.



Station rates reported by AP =

75
70
65 E—I— »
60
L Vi,
55
= 50
a 45
2
s 40
=
.8 35
g 30 F
25 I ! sl T
20 ' M \
15
10 ) =
5 | | 1 L] lm
| “ 1
4]
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Date
-m TX-8:99:c4:82:83:4d = RX-8:99:c4:8e:83:4d -+ TX-8:50:80:91:bd:0e RX-S:SO:Bb:Ql:bd:Oe|
a
Log Messages:
1438226064.504 WIFI-EVENT: 1.1: vapD (phy #0): mgmt TX status (cookie fFf2502140e3700): na ack
1438228064.634 WIFI-EVENT. 1.2: vap1: del station e:00:c4:8e:83 4d
1438228064.634 WIFI-EVENT. 1.2: vap1: new station 3-00:c4:Be:83:4d
1436226181.318 WIFI-EVENT: 1.2: vap1: del station e8:00:c4:0e:03:4d
1436226181.318 WIFI-EVENT: 1.2: vap1 (phy #0): mgmt TX status (cookie ffff8800d5d30100): no ack
1436226202.670 WIFI-EVENT: 1.1: vapD (phy #0): mgmt TX status (cookie fFff2802138e7100): na ack
1436226202.608 WIFI-EVENT: 1.2: vapl: naw station e2:00:c4:82:83:4d
1438226251.052 WIFI-EVENT: 1.2: vapi: dal station e8:00:0d4:82:83:4d
1438228357510 WIFI-EVENT. 1.2: vap1: new station e3:50:80:01:bd O
1430226418.313 WIFI-EVENT. 1.1: vap0: new station 3. d Oe
1436226445.708 WIFI-EVENT: 1.2: vap1: del station eG:: e
1436226445.708 WIFI-EVENT: 1.2: vap1: new station e2:50; d:Oe —|
1436226447181 WIFI-EVENT: 1.1: vapD (phy #0): mgmt TX status (cookie fFff280038008a00): na ack
1438228447218 WIFI-EVENT: 1.2: vapi: naw station e3:00:c4:82:83:4d I
1436226406585 WIFI-EVENT: 1.2: vapi: dal station e:00:c4:8e:83:4d
1438228407501 WIFI-EVENT. 1.2: vap1 (phy #0): mgmt TX status (cookie fFff5021386500): no ack
1436226533.850 WIFI-EVENT: 1.2: vap1: new station e8:90:c4:0e:83:4d
1436226583.213 WIFI-EVENT: 1.2: vap1: del station e8:00:c4:0e:03:4d
1438226624.224 WIFI-EVENT: 1.2: vap1 (phy #0): mgmt TX status (cookie fFfFS80205f45700): n ack
1436226526038 WIFI-EVENT: 1.1: vapD: dal station e:50:80:01:bd e
1438220526.038 WIFI-EVENT: 1.1: vapD: naw station e3:50:20:01:hd:02
1438228608.108 WIFI-EVENT. 1.1 vapD: del station e8:50:8b:21:bd De
1438228600.114 WIFI-EVENT. 1.1: vapD (phy #0): mgmt T status (t:nukle FFIfEE00d54a 1300}, no ack
1436226612.784 WIFI-EVENT: 1.1: vap0: new station e8:50:8b:81:bd
1436226618.0528 WIFI-EVENT: 1.1: vap0: new station e2:00: _l=
1436226660.658 WIFI-EVENT: 1.1: vapD: del station eg:50: =
1436226670661 WIFI-EVENT: 1.1: vapD (phy #0): mgmt szlz(us (cookia f11f330036976300): no ack
1438226625557 WIFI-EVENT: 1.1: vapD: dal station e8:00:04:82:23:4d
1438228685 587 WIFI-EVENT. 1.1: vapD: new station 3:00:c4:8e:83:4d
1436226770.330 WIFI-EVENT: 1.2: vap1 (phy #0): mgmt TX status (cookie ffff220001d50400): no ack
1436226770.330 WIFI-EVENT: 1.2: vap1: del station e8:50:00:01:bd0e
1438226840391 WIFI-EVENT: 1.2: vap1 (phy #0): mgmt TX status (cockie fFff820214de2200): na ack
1436226840300 WIFI-EVENT: 1.1: vapD: new station e3:60:0:01:bd 0
1438220870.081 WIFI-EVENT: 1.2: vapi: new station e3:50:50:01:hd 02
1438226034.532 WIFI-EVENT: 1.1: vapD (phy #0): mgmt T status (cookie fFf850214030400): no ack
1438228034.533 WIFI-EVENT. 1.1 vapD: del station e8:50:8b:21:bd De
1436226038.521 WIFI-EVENT: 1.1: vap0: del station e8:00:c4:0e:03:4d
1436226038.522 WIFI-EVENT: 1.1: vap0 (phy #0): mgmt TX status (cookie ffff880213ddb800): no ack b
1436226040020 WIFI-EVENT: 1.2: vapl: new station e3:00:04:8e:83:4d
1436226051088 WIFI-EVENT: 1.2: vapl: dal station eg: :
1438220066.763 WIFI-EVENT: 1.2: vapi: naw station e3: 3:4d
1433227018 825 WIFIEVENT 12 vap! - del station e3:88 c4:8e 83-4d
1430227018.820 WIFI-EVENT. 1.2: vap1: new station e3:90:c4.8e: 33 “d
1436227028.831 WIFI-EVENT: 1.2: vap1: del station e3:00:c4:8e:83: |l
1436227145.218 WIFI-EVENT: 1.2:

wapl: new station e2:00: c4.Be.BS Ad hdll

‘ Close | ‘ Save File |

During this test your phone will attempt to roam to anything. In your phone WiFi settings,
force the phone to forget your nearby (non-testing) APs. You might have to change the WPA2
passwords kept in your phone WiFi settings for those nearby APs to force them to fail
association with APs outside this test.

Uncheck Pause and the test will resume automatic attenuation of each AP.

At Candela Technologies, our testing showed our Android phones were not behaving
optimally. Part of the problem is that we were not using isolation chambers, so even the 'out-
of-range' APs were visible at around -80db signal level. We concluded that our phones were
not smart enough to notice a weak AP and take proactive steps to scan for a better one.
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